
 

 
 

Snap-on Blade set ANIMAL 
 

 

Mar 24 / A 

                                                 
 
 

UNC 6-32 – Blade guidance white (Pos.19) M3,5 x 4 – Blade guidance black (Pos.19) 

POS ART-NR DESCRIPTION TOTAL POS ART-NR DESCRIPTION TOTAL 

18 707-891-A Pressure spring 1x 18 707-891 Pressure spring 1x 

19 707-892-A Blade guidance 1x 19 707-892 Blade guidance 1x 

20 707-890-A Clamp holder 1x 20 707-890 Clamp holder 1x 

21 All types Top blade (not available) 1x 21 All types Top blade (not available) 1x 

22 All types Bottom blade (not available) 1x 22 All types Bottom blade (not available) 1x 

23 707-893-A Screw UNC 6-32 2x 23 707-894 Screw M3,5x4 2x 

        

        

 

M4 x 5 - Blade guidance red (Pos.19) UNC 6-32 – W-Blade 

POS ART-NR DESCRIPTION TOTAL POS ART-NR DESCRIPTION TOTAL 

18 707-994 Pressure spring 1x 18 - Pressure spring (not available) 1x 

19 707-995 Blade guidance 1x 19 - Blade guidance (not available) 1x 

20 707-993 Clamp holder 1x 20 - Clamp holder (not available) 1x 

21 All types Top blade (not available) 1x 21 All types Top blade (not available) 1x 

22 All types Bottom blade (not available) 1x 22 All types Bottom blade (not available) 1x 

23 707-996 Screw M4x5 2x 23 707-893-B Screw UNC 6-32 2x 

        

        

 


